1 | FEH

AR &R — B R

BRTHEE 64K (FR1 05 1 5HEAT)
FoMiE FERER O KEEE TS

2 T & o % RFIAFRR S ATHT V5 45 /N5 N

1 L F O 4

3 AN L £ H H 5 Fn 7 e 5 A 19 H

AL KA £ 1 AKL % 2 [ AFLE i £
(B) FEA7E %
] ot % 2 21,073,000
ﬁiﬁf‘\ﬁ ﬁzﬁﬁﬁﬁ% 21,063,000
= M #® o —
PRACEAE o MR 21,060,000 AL
x i &
Bkt Wi
i 4 m 21,070,000
U AT
%A e 21,068,000
Mk aAt B
i o = 21,063,000

A

#oonr 5

B

:,‘\
o

=111
i




2 | AR

AR &R — B R

BRTHEE 64K (FR1 05 1 5HEAT)
TOMME  EERR KEEIR TS

2 T #H o % 7 HEFFRRSSARET PR AR 1L = 2 N

1 L F O 4

3 AN L £ H H 5 Fn 7 e 5 A 19 H

AR K4 %1 EALES % 2 [B] AFL il i
(BR) HATPESE
m i % 7 19,720,000
ﬁﬁi&\ﬁ: ﬁgﬁﬁﬁﬁ%ﬁé 19,720,000
= H " —
A HHEREE
* o E 19,680,000
MRt AR
£ 3k I . 19,740,000
RSt ACERPE SR %
B PN P . 19,700,000
BASAE Bo PEHL
I 0 . iz 19,650,000

A

#oonr 5

B

:,‘\
o

=111
i




I | BEH

AR &R — B R

TR [AFFME] 5K (RE65 35T
WHARE 228 - LR IR KEEIE TS

2 T & o 5 B FRFARFARSE AR MY P 48 L9 1] Hh P

1 L F O 4

3 AN L £ H H SF7 £ 5  H 19 H

%5 AMLEF K4 &1 B AFLE & 2 [ AL i G
(BR) mATEEZE
1 m A A 84,560,000
2 **Et:l?\ th FEABOA%E 84,300,000 AL
b= H 1t —
3 Hﬁf RS 84,770,000
= i &
RSt AbERpE2ERE 3
4 v M 84,600,000
MRS 1 mH
5 = n R 84,860,000

EREARIC YL AEEAD 1005 D10IZFI Y - D82 N U 7-4805H LIAAMIIRE TH 5,

A

#oonr 5

B

:,‘\
o

=111
i




4 | BRH

AR &R — B R

BRTHEE 6 HFK (B0 15 EAT)
T OMAE  FEREE - FREER  KEEIRTHE

2 T & o 5 B FRFARFARSE AR MY P 48 L9 1] Hh P

1 L F O 4

3 AN L £ H H SF7 £ 5  H 19 H

%5 AMLEF K4 &1 B AFLE & 2 [ AL i G
(BR) mATEEZE
1 m A A 48,420,000
2 **Et:l?\ th FEABOA%E 48,300,000 AL
b= H 1t —
3 Hﬁf RS 48,700,000
= i &
RSt AbERpE2ERE 3
4 v M 48,670,000
MRS 1 mH
5 = n R 48,580,000

EREARIC YL AEEAD 1005 D10IZFI Y - D82 N U 7-4805H LIAAMIIRE TH 5,

A

#oonr 5

B

:,‘\
o

=111
i




o | AR

AR &R — B R

SMTHEE 64K (FE1 05 25
B ARIE PSR REEIR T

2 T & o 5 B FRFARFARSE AR MY P 48 L9 1] Hh P

1 L F O 4

3 AN L £ H H SF7 £ 5  H 19 H

%5 AMLEF K4 &1 B AFLE & 2 [ AL i G
(BR) mATEEZE
1 m A A 36,780,000
2 ﬁﬁfﬁ PP E 36,570,000 AL
b= H 1t —
3 %ﬁfﬁ i RS 36,660,000
= i &
RSt AbERpE2ERE 3
4 v M 36,700,000
MRS 1 mH
5 = n R 36,820,000

EREARIC YL AEEAD 1005 D10IZFI Y - D82 N U 7-4805H LIAAMIIRE TH 5,

A

#oonr 5

B

=
o5

=111
i




b | BA%H

AR &R — B R

SMTHEE 64K (FE1 0% 3 5EA)
BAARE Ol REEIETEHE

2 T & o % A FRFRF AR SE AR M P 46 S 4ok B A

1 L F O 4

3 AN L £ H H SF7 £ 5  H 19 H

%5 AMLEF K4 &1 B AFLE & 2 [ AL i G
(BR) M pE2E AL
1 m A A 32,790,000
2 ﬁﬁfﬁ PP E 32,805,000
b= H 1t —
3 %ﬁfﬁ i RS 32,826,000
= i &
RSt AbERpE2ERE 3
4 v M 32,900,000
MRS 1 mH
5 = n R 32,809,000

EREARIC YL AEEAD 1005 D10IZFI Y - D82 N U 7-4805H LIAAMIIRE TH 5,

A

#oonr 5

B

=6
o5

=111
i




1 | AR

AR &R — B R

SRTEE 64FK (FR10% 1%
BHARE T - BHOYRRE KEERTEH

2 T & o 5 B RFANFRR AT P 4 ) 1 Py

1 L F O 4

3 AN L £ H H SF7 £ 5  H 19 H

%5 AMLEF K4 &1 B AFLE & 2 [ AL i G
(BR) mATEEZE
1 m ok A 124,120,000
2 ﬁﬁfﬁ PP E 123,800,000 AL
b= H 1t —
3 %ﬁfﬁ i RS 124,420,000
= i &
RSt AbERpE2ERE 3
4 v M 124,600,000
MRS 1 mH
5 = n R 123,950,000

EREARIC YL AEEAD 1005 D10IZFI Y - D82 N U 7-4805H LIAAMIIRE TH 5,

A

#oonr 5

B

:,‘\
o

=111
i




8 | A%

AR &R — B R

BRTHEE 6 HFK (B0 15 EAT)
ZTOWE FoOlE - HORER  KEEID TS

2 T & o % A FRFRF AR SE AR M P 46 S 4ok B A

1 L F O 4

3 AN L £ H H SF7 £ 5  H 19 H

%5 AMLEF K4 &1 B AFLE & 2 [ AL i G
(BR) M pE2E AL
1 m A A 90,500,000
2 **Et:l?\ th FEABOA%E 90,522,000
b= H 1t —
3 Hﬁf RS 90,544,000
= i &
RSt AbERpE2ERE 3
4 v M 90,700,000
MRS 1 mH
5 = n R 90,555,000

EREARIC YL AEEAD 1005 D10IZFI Y - D82 N U 7-4805H LIAAMIIRE TH 5,

A

#oonr 5

B

:,‘\
o

=111
i




9 | BARH

AR &R — B R

TR [AFFE]  SEK (RE65 1 5T
ZoOfMRE BER KEEETH

2 T #H o % 7 HEFFRRSSARET PR AR 1L = 2 N

1 L F O 4

3 AN L £ H H SF7 £ 5  H 19 H

&5 AR K4 %1 EALES % 2 [B] AFL il i
(BR) HATPESE
1 i K % e 67,665,000
2 ﬁﬁi&\ﬁ: ﬁgﬁﬁﬁﬁ%ﬁ% 67,735,000
= H " —
3 H%iﬁi:\i‘i R EE 67,655,000 WAL
5 FH 3
RS ACERPE LR %
4 Yy S v . 67,710,000
MAEH 180
5 P . - = 67,735,000

EREARIC YL AEEAD 1005 D10IZFI Y - D82 N U 7-4805H LIAAMIIRE TH 5,

A

#oonr 5

B

:,‘\
o

=111
i




